
sl 

PAKT A UNJTL 
PROBABIITY DISIRI BUNO! 

hat is Ihe Value of COtdi0n fac tor f n-5 and200 

Gtiven N. the Size of finitc population 200 

n- the size Df Ga mple 5 

N-1 

200-5 
200-1 

0! 

J45 = 0.48 

) Usig Poisson's drstribution , find the pro bability that the ac 
Df spade s nill be diaun ftom a pauk of wcll shuffled corda ot 

least once in ) Du consecutivc tials. 

:.Mean bf-the dishibubön �-np JO4 

Platleast once) - PX a) 1 -p(x =b) 

52 

-1-.1353 -0. Gu. 

TO eiaht thons bf o die 5 0r 6 is considcred a suces 

find the mcan number Df success and 

p-probability of suces - 2 

standard 

4 The probability Of fa+uYC J-p e J-d 

doviaim 



n= nunbr of thpuls =8 

:. Mean -np-P-y 

Vaiare n 2) 
Hlee standad dviatidn vatane -
Jf Xis a nomal Vaiale ,find the alca A. 

Sol �) Rtquied aiea.A 

-D.5- Areal0 t0 -1.48) 

-0.5- Arcal0 to 18) (By Symmeny) 

- 0.5 -D.625 (fom tabu s) 

- ).8 

-0.0375. 



A F¦ Coin is tossed si ims . ind h Pobao ly of 9t Iting 

fou heads 

P probablity Df qctinn a head -, 

4-Probability of not g ttin head -A|, 

and n6 ,Y:s 

Ne KnDl that PY ly p qn 

..Plu) 

D.13sy. 

ul2! 
- s9. 2 96 

- j5 



Dul of &0D familiec with 5 childien cach. how many 

YDu expect t0 have 

i zboys 

() E Hhct 2 0Y 3 boys 

PART-B. 

(iv) atleast one boy 

Assume equal probability for a boy and qil. 

Given N-900 families 

n =5 

P and4 

P(X-3) ncz p'an- 3 

PUX-3) 

’5c3 (3))* 

ao()(4) 

32 



For 800 4amilies - N.p() 

..RbD fam:lies 

(0 5 gils 

- 800 . 

alc 

32 

32 

16 

having 3boys 

For 900 familiesx g00 

.R5 families ae having 5 qils amor 00 famiics. 

'iü) Eihr Ror 3 boys 

P(Either 2 01 3 boy: ) =P(X-2) +P(X =3) 



0)()+ 30 (b) 

. for 800-familics N. P) 

800 X 0 

= 500 

32 

500 4amiles alc havíûg eithct 2 Dr 

iv) PCx >) - P(x<) 

-l- P(x- o) 

DJ-5ol°) 

32 

32 

N. pO) 31 YO 
32 

H5 amiles. 

s buys 

2 



fit the binomial distributioo 0f folloulina dala. 

D J23 

Lct N 

|J3 R5| 52/ 5 3)| l6| J4 

1345 +6) t5+32 6+4 

2D0 

n=6 

Mean u-np 

)3XI0 +25XI 52 X2 + 57X3+ 32 Xs 6 Y5+U YG 

np = 2.67 

P: a.6 

6 

P=0.uu 

=D.56 

2D0 

4-D.4s 

0.5b. 



2 

3 

13 

25 

5) 

3) 

Plo) = Gco (0uu)°050 

P) -Gqo.uu)(0.565 
0.03. 

P2) -G, (0.u (0.58)4 

PI3) Ga (0uu055)} 
-D.) 

Cmeqch y calls 

-0.)9 

plu) 6c( 0. uu0.5) 

P(5) - Gl6 (Duu(0.56) 
0.05 

PG) =Gcc (0.uu)(0.5)° 

Pobability that 

A hospital suitch boaid Teeives n 

D.00 

in ten minute 

N.p(x) 

200 X 0.03 =6 

200 XO.ls = 2 

2-00 XO.28 -56 

200 XD.27=60 

200 XO.14-35 

200 X0.D5= 1| 

200X 0.004 

ananger of four 

interal -Whalis the 



2 
+e4 

PCX=3) =0.145 

)32 

32 
( iD PX=3) -eu 

= D.23? 

e[02] 

D! 

(i P(A2) -pX-0) + PX=1) +PX=2) 

Gi There ate exatly is em crgncy calis in 0 minule intenal. itergal. 

o There Qe atmost du0 emeiqcn(s cau în ten minute 



Tf a poiss00 distnbution is such that PX-)1 P(X-2) 

tPX-0) . Find 

(i) Mcan 

GivCn J PX-2) + PX-D) = 3 P(X-4) 

) 

2! 

Ae 

+J 

8 

D! 

3.e4 
u! 



A-UX+2)2 8 0 

()-ya+2) -D 

(i) Mean u: d-2 

(ü PCXe2) 

P(X=D) +PLX-) P(X=2) 

+e +e 
2! 



A Sample of A00D (aSe < jthe mean 0f a cettain test is 14 

aud -the standad deviah Dn is R5. %6uming the dstibution 

lo be nommal . ind the 

) Hou many students SCo1C blw 2 and 15. 

(0 HOW many 

(i) How Many Student SDe bluw 18. 

Given =14 

Sandard deviation 5-2.5 

students SCOIC above l8. 

P(32eY 15) = XI X <X)) 

Heie 

0 

2.5 

= P(Z 12)) 

and :5 

2.5 

6 



) A 0.g) + AL0. s)) (:.f1om nomat 

=D.4s 35 

foy q000 cases,-1000 X0.uu35 

2.5 

P{ Z > 1.G) = 0.G- A(z)) 

-\0.5- Al.6)1 

for 1000 Cases 

0.054R 

= |.6 >0 

J0D0 x0.09u? 

5u.R 255 

disthibukon table) 

7-0 Z| .6 



P( Z Zi) 

tlete X- 18 

I8-4 
2.5 

- 1.6>0 

P( Z 1.6) = |0.5 + A(z)| 

= |0.54 AU.6)) 

- 0.5 +0,uu5 

-0.445) 

for 1000 Cascs -JD00 X0.445) 

- q45.) NqU5 

’ 445 

Tn a nomat distibufon 31·. 0f the items are under u5) 

OvcI 64. Find mean and vanaNce. 

P( X 45) -31. 

P X 2u5) -0.3| 

PCX>6u) 8 

P(X >6u) -0.09 



P(0eZE z) D.1 and P(0le73l -0.u2 

fiom the nommal disti buton tabes, 

ZË =0:5 

Z=D. I-H 

-0.5 = 5 
6 

45- =0.5)6 

SOlUh� eas (i) and (2) 

- s5- D.5 6 
t 

and 

34 = 1.9|6 

6- 1.4 

1.4| 

.6= 10 

6= 100 



firom eq) 

G4-u lsl 6 

l=6U- u. 

=U4.4 50 

Mean 



The Mran 

d omple Man 

heiqkt 0f 36 Hudents ts 

dample ie 

ly (onol imit heovÇm 

e have 

Khat fr the po b. hat 

P iLSs a) = p(ze0- ) 

:0:rtA (z1) | 
(os+ A Co-e1| 

Jtudent in a 

r=l6 

8 

+he mean 



Heve 

Z=-0.D6 

Z= - 0 0 <0 

-(Alz)4 4 C22) 

1400 

Z-O62 

A po 



A popuiatton Contits 

0 Nith veplactmtnt 
al posfiable oomples of site 9 ohich ton 

|1:) tho ut Yeplate mtnt fom this 

|d) Mean of the populoion 

tht mEan 

6) tond avd deviation of populatYon 

d) The tardard deviatiorn ot 

(f Mean 

tiiven poputa tion 

numberS 

N=S 

n 2 

a) Meon of the popuatton 

populaton , 

&, 3, 6, s, , tontidey 

S 

be drawon 

2 

find 

B) Jlandod sevition of popula tion s lri= 4) 

d rti buton 

= l3-c)+ C3-6)+ (o-6)+ (o-c) 



vai ance, 

S tandavd sevtatton of pop 

loS 

plactment N 

(a,a) (a, ) (a,4) (21) 

= s=2 

(3,a) G, 3) ( c) 

(o,2) (8,) 

(6,2) eey) (6,6) 

|) Mean of the 

Jom pling dtt. of Meon 

,) 

(bt) 

(l,) r,) C,9 (U, ) 

Ca, !1) 
(3, I) 

-32 

Ce, n) 

(8,s) (,1) 

9 

6-5 

dic?butHbn 6 Mean 



) standord deviatton tt Jompling 

2S 

Standad 

: (26)* + (as-)+ tt6] 

35.S 

Vaíances S.42 

dirhibuion tf Meons 

i) ithout eplat tm ent 

70tal 

(, s) (, u) 

4 4 

distibution of me an 

dirtibutbn ÞHhout vploctmen 



Jampling 

60 

variance 

.D 

dic! . rf mpo! 

it the Jampling 

Jlan dosd dev of am pling 

u. 2S 

camplfnq 

4.s 

dirt Meony 

dirt of 

dit of Mean 

mean 

--4 (9s -6) 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

